NATIONAL SPRING tournament in informatics
Yambol, June 10 - 12 2011
Group E

Task E1. brackets
Author: Pavel Petrov
In Mathematics, when you have to solve a problem with number expressions, you use three types of brackets: big { }, middle [ ] and small ( ). You are given a sequence of brackets. Your task is to write a program skb that outputs, for every type of brackets, which are more – the opening or the closing brackets.

Input

On the first line there is a single number – representing the number of the brackets. On the next line are the brackets themselves, separated by intervals. 

Output


The output consists of 3 lines. The first line is for the big brackets, the second – for the middle, and the third line – for the small brackets.


The information on each line shows the number of extra opening or closing brackets.     In front of the number of extra brackets, there should be the letter L, if there are extra opening brackets, or the letter R, if there are extra closing bracket. Between the letter and the number there is one interval. When the number of the opening and closing brackets is equal, in the corresponding line the output should be just the number zero. 

Restrictions
There will be no more than 100 brackets.
Examples
Input
7







{ [ ( ( ] ] }






Output
0







R 1







L 2







Input
6
{ ] } ( [ )
Output
0

0

0

Explanation for Example 1:

There is an equal number of big opening and closing brackets, and therefore a 0 on the first line. There is one more closing middle bracket, which is why there is an R (for closing) and 1 on the second line. There are 2 more opening small brackets, which is why there is an L (for opening) and 2 on the third line.
Task Е2. Digits
Author: Zornica Dzhenkova
Each small square in the figures represent a small lamp:
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When a lamp is lit, box is shown in black. Otherwise, the box is white. Given are two 2-digit numbers, which are visually formed by darkened squares (i.e. by lamps illuminated). Write a program digits, which determines how many boxes at least have to change their color (from black to white, or vice versa), so that the first given 2-digit number becomes equal to the second given.
Input
The first line of the standard input contains two 2-digits positive integers.
Output
A single line of the standard output should contain one integer, which shows how many boxes necessarily change their color, so that the first number becomes the second one.

Example 
Input
93 80

Output
4
Explanation of the example: The digit 3 should become 0, which may be done with one lamp going off and two others going on, i.e. three squares have to change their color. The digit 9 must be transformed into 8, for which it is necessary that only one lamp to be lighten on. Totally, we have to make 4 changes.  
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Task E3: Football

Author: Kinka Kirilova-Lupanova

Instead of studying, Veselin is watching a football game on TV and is writing down the score they show after each goal. After the end of the game he had the following numbers on his note: 1:0, 1:1, 1:2, 2:2, 2:3. Veselin summed all of the numbers:

1+0+1+1+1+2+2+2+2+3=15.

Write a program football which by the sum that Veselin calculated finds out how many goals were made during the game.

Input
On the first line of the standard input is entered an integer n – the sum calculated by Veselin.
Output
On one line of the standard output the program should print an integer – the number of the goals, made during the game.

Restrictions
0 ≤ n ≤ 1000

Example

Input

15
Output

5
